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What you will learn about:
Solving Geometric Applications:
Triangles, Rectangles, Pvthagorean Theorem

Measure of two angles of a triangle are 55 and 82 degrees. Find the
measure of the third angle.

S5y dx= /gD

|54 x= /sD

}( - ‘-{ 3
The perimeter of a triangular garden is 24 feet. The lengths of two sides
are four feet and nine feet. How long is the third side?
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The area of a trianglar church window is 90 square meters. The base of the
window is 15 meters. What is the new window’s height?
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One angle of a right triangle is 28". What is the measure of the third angle?
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The measure of one anlge of a right triangle is 20 degrees more than the
measure of the smallest angle. Find the meassure of all three angles.
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Pythagorean Theorem
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Use the Pythagorean Theorem to find the length of the hypotenuse shown
below.
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Use the Pvthaﬁrean Theorem to find the length of the leg shown below,
i 2
' 5+b=]3
-
25+b =169

-5 —25

b= 144
b= 1

Kelvin is building a gazeboo and wants to brace each conrner by placing 10”
piece of wood diagonally as shown above. If he fastens the bood so that
the ends of the brace are the same distance from the corner, what is the
length of the legs of the right triangle formed? Approximate th the nearest
tenth of an inch.
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Rectangles

i

Properties
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John puts the base of a 13-foot ladder five feet from the wall of his house
as shown below. How far up the wall does the ladder reach?
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Randy want to attach a 17 foot string of lights to the top of the 15 foot
mast of his sailboat, as shown below. How far from the base of the mast
should he attach the end of the string?
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The length of a rectangle is 32 meters and the width is 20 meters. What is
the perimeter. =
203%) +2(20)= P P= /oY m
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The area of a rectangluar room is 168 square feet. The length is 14 feet.

What is the width? A= lw WERD pt
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Find the length of a rectangle with perimeter if 50 inches and width 10
inches. P=21 Flw .
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The width of a rectangle is two feet less than the length. The perimeter is
52 feet. Find the length and width. p__ ](1, p,b
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The width of a rectangle is seven meters less than the length. The
perimeter is 58 meters. Find the length and width.
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The perimeter of the TV screen is 150 inches. The length is six less than 2 --__-_"'{ﬂ-
times the width. Find the length and width. What is the size of the TV.
(TV's are measured by the length of the diagonal of the screen. - - A
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